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Model Question Paper — 2018

Entrepreneurship

(3afan)
SECTION -1
Objective Type Questions (a¥gferss uea)
AF : 1 °eT 10 foere guifes: 35
Time : 1 Hours 10 Minutes [Total Marks : 35]
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In section |, there are 35 objective type questions, to be answered on OMR sheet. Question Nos. 1 to 35
carry 1 mark each.

For questions No. 1 to 35 there are four options in every question. Out of these only one option is
correct. You have to choose the correct answer from these option and mark in the answer sheet.
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1. An entrepreneuris ?

St BT B |

a. Manager (Udserp) b. Invester (feraers)

c. Owner (ZamEl) d. Owner and Worker (a1} T HIHIR)
2. Entrepreneur fullfill responsibility ?

Jerel IR QT HRar & ?

a. Managerial (UYaeerasi=T) b. Social (FTHATSTH)

c. Statutory (Hifaférp) d. None of these (ST A B3 1&l)
3. Planning is for -

ferattoter BXar @ -

a. Past (3g®rer) b. Present (adi#Ter)

c. Future (stfarsreprer) d. For all time (it I & fo@)
4. Project is Prepared -

gf¥=ere dR fpar rar @ -

a. By Managers (Jastrsp FIRT) b. By Entrepreneurs (3grFHT g1RT)

c. By Promoters (Ul gR) d. By all these (J3ft & gR)
5.  Fixed Capital is

Tt Goft Bt 2 -

a. Long terms (Sefepreter) b. Shortterm (3TcUpTeite)

c. Permanent (I2Imh) d. None of these (S A B3 1&})
6. The advantages of marketing is to :

frgore &1 T ® -

a. Consumers (SUFAT3IT ) b. Businessmen (STaATRRT ®1)

c. Manufacturers (feratanait 1) d. Al (sd)
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For business, marketing is ?

=A™ 3 foe e g 2
a. Compulsory (31feram=i) b. Necessary (31Td2d®P)
c. Unnecessary (31eITae3e) d. Luxury (frenfam)

Merger means ?

AT BT 37 2 ?

a. Combination of two business organisations (g Joraer T far2ror)

b. Control on other business (31 SR Uz fer=rom)

c. Purchase of share (9R=&IR SRlee)

d. Combination party of two organisations (g Js1eell T 3fiferes f37erer)
Sources of long term of Finance ?

fra & Sredpiferer A= @ ?

a. Devidend (&Taier) b. Bond (d¥s)

c. Interest (<ToT) d. All of these (3T A Taf)

Venture capital is provided for :

Jeret ot Sucea @ -

a. Very risky units (3reia shfE@l g1t 2q) b. Technical units (abeliat oIt 39 )
c. Organisational Units (FiZ2ImeTd g1t &g ) d. All of these (3uRrar i)

Dividend is

ATHIT B -

a. Net profit (& cTa) b. Appropriation of Profit (€137 @1 feraeter

c. Reserve Fund (9 HIN) d. Part of Undistributed Profit
(31t eat &1 3ier

Labelling is ?

daferord ?

a. Compulsory (31feram=t) b. Necessary (31Td2I®)

c. Voluntary (2ft=e) d. Wastage of Money (& 5t aafe)

Which of the following is not factory overhead ?

THH DI BRHATT IURRT &1 & ?

a. Salary (@dsT) b. Factory Insurance (BTRETET HT)

c. Depreciation on plant (Tee U @) d. Drawing office Salary (STS91 BRITeT daeT)

The best example of variable cost is -

uRadaeiiet aeTa &1 Sedsd 3@ R -
a. Rent (fepzr=m) b. Material Cost (I3 &eId)
c. Wealth Tax (&6 BR) d. Interest on capital (GT U= =151

Current ratio is

Y, 31U & ?
a. Balance sheet ratio (3nffe ferest srequra) b. P/ L ratio (ema-zifer srgpura)
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c. Composite ratio (FAf3a srequma) d. None of these (g3l A BIF =1&)

Business opportunity relates with ?

STTATRISG TaAT Aafeerd alar s ?
a. Commercially feasible (aiforfsare F#eamea ulRaieE A)

b. Personal feasible projects (@feraeTa TAFaTer uRR=NSret A)
c. Neither anor b above (3uRId s aslb)
d. None of the abover (3uRYad H A B =&))

Economic Policies determine what ?

aniRie et = frafRa =1 2 ?
a. Direction of Business (a3 &I faom)
b. Volume of Business (SIaT= &I HTM)

c. Nature of Business (CIaAT=I &t Upid )
d. Direction and Volume of Business (SIaam™I &I f&om wa #m=m)

Market Demand is also known as ?

TSR Aot Y oot F A =T BEA T?
a. Supply (gf) b. Demand Forecasting (a1 qafejarer)
c. Real Demand (arafae #ier) d. Profit earning (€TTe1 375tel)

As known as discovery of Business opportunity ?

STTATRIS TTHAI P FNSA D HI 3 oIl a1 & ?
a. Innovation (3nfaspR)

b. Product (3cI1E)
c. Promotion (Saier)
d. Strategies (Ivreiifer=it)

Of all managerial Activities planning is the ?

fereiorer Tl yeeami fpamaii B12 ?

a. Beginning & End (R U4 31d) b. Beginning (UR)

c. End (3red) d. None of these (318 I B8 =18l)

A plan is a trap to capture the future, this statement is of

a. Hurley (&¢) b. Terry (23Y)

c. Allen (¥cte ) d. Newman (=)

A Project is

v ufioren 2-

a. Family Welfare (ufRarR wearor) b. Opportunity ( 31aAR)

c. Single Activities (Tepet atfafafer) d. Cluster of activities (eifafafer &1 9E)

Modernization improves

sngferaimor Farar 2
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a.

C.

To Product (3a0TE &) b. To Production (3cdTee )
To processes (9fsr=maii &1 ) d. To Capacity (37T )

Fixed cost includes ?

R wera & enfira Ear e ?

a.

C.

Cost of Factory (TSI dPId) b. Cost of Power (21 Y &1o1d)
Cost of Labour (%13 @&} &1oTd) d. Cost of Material (FTeT B! &)

The nature of management is ?

gael B Ubid & ?

a. As an inborn ability (STesreTa ufds @ & #)

b. As an acquired ability (31fsfa ufeasn & wa )

c. Both inborn and acquired ability (STesToTra wa 3iffar ufasm S¥e)
d. None of these (a1 B «1&1)

Production design includes ?

3dE HUE # AlsHAfeaa ® ?

a.

C.

Planning (ferenster) b. Control (fer=i=oT)
Cost (&eTd) d. Standardization (W3TofeezoT)

The factors affecting Production mix ?

IS 31dcte &I UATIg Bea araT dea & ?

a.
C.

Marketing (feraorer) b. Production (3careel)
Financial (fr<i=r) d. Allthese (3 Hafh)

Price Policy is ?

e <fifa g ?

a.
b.
C.
d.

In favour of consumer (SUTT & Tal H)

In favour of Government (FAZBIR B T&T H)

In favour of Manufacturers (3care-feratar & gat )
In favour of all (JA3ft & a1 H)

Distribution of free sample is included in ?

et o1 Haa [arer afiFea 2 ?

a.
b.
C.
d.

In Trade (AR )

In consumer Promotion (SUAYaaT Hdee &)
In Profit (cT3T &)
In Investment (fafer=ier &)

The fore most need of development in a country is of -

fpett oft 291 B Ry & waA 31feres smasabar 2 -

a.

b
C.
d

Physical resources (afifaes ZAmerer)
Economic resources (31T JTErT @)

Efficient management (G2Tet Uaier )
None of the above (SuRad & A BIS =8))



31. IFCIl was established in the year -
IFCI zenfa & 18, asf & -

a. 1939 b. 1948 c. 1950 b. 1956

32. Naked debentures are -
&9 SRUT-US Bld & -

a. Fully secured (qofa: =fara)

b. Partly Secured (31if¥rep Fzfara)
c. Unsecured (3R=f214)
d. None of the these (e & ®Is =18)

33. Telephone expense is :-

AP =TI B -
a. Fixed (2m=M) b. Variable (IeT)
c. Semi-variable (3r&de) d. None of the these (SeT& A ®IS I&l)

34. The purpose of Project formulation is to determine the -

uf¥=itstrer forafor @1 322w, Frefor s aar® -
a. Total impact of the proposed project (WaTaa lR=Tster &1 §eT Yaa)
b. Major impact of the proposed project (Ufra TR=NGSTeT BT 3ifereier waira)
c. Minor impact of the proposed project (STiId TSI BT 31cq UaTd)
d. None of the above (Sudfaa & & PIg =1&l)
35. Duty of entrepreneurs -
AT BT B © -
a. Over charging (=TT a'q?ﬁ) b. Tax-evasion (PHI-TARY)
c. Environmental pollution (a=ifa=er yguor)  d. None of these (g1 A B3 w1&l)

Section - Il

Non-Objective Type Questions

(PR aegferss yea)
AHA : 2 "el 05 fHere guifes : 35
Time : 2 Hours 05 Minutes [Total Marks : 35]

l. Question 1 to 15 are short Answer type question. Answer any 10 questions. Each

question carries 2 marks.
goe FHAT 1 A 15 9 gt uea 8 | fredl g ueali T 3w @ | 10%2 = 20

UcIp U2 €1 3ih BT & |

Short Answer Type questions :

AYSTAANT YA :
(1) Whatis Marketing mix ?
frqorer fAsor T ® 2

(2)  What are the various kinds of opportunities ?

3R & fafdest bR Ha AE?



(3) Mention any three features of planning ?

feranerar & et faotwanaii & aamo ?

(4) Is management a profession ?
T YdeET I TH U0 HTEAT ST & ?

(5) What are the main kinds of environment ?

ygfaRer 3 {3 fpaet ypR & ?

(6) What is meant by mobility of resourses ?

FHATIS B srfaeiierar &1 = areu=t 22

(7)  What is the importance of quality control ?

e PR T T AE@ ® ?

(8) Who is an entrepreneur ?

et P s ?

(9) Is management an art or science ?

Ueiel Pel & T fersine ?

(10) What is the Purpose of Packaging a Product ?
3cUTE B ADISTo1 BT =T I22 T B2

(11) What is the objects of branding ?
STS BT T 32T 22

(12) What are the different kinds of shares ?
faférest PR & 3ier PA-AE?

(13) What is the role of government regulation in selection of an enterprises ?

3UHHA B AT H AXBRY foreretar I a4 offeramr &2

(14) What do you mean by Fund-Flow statement ?

PN YaTe frazor A 319 =1 FHSA © ?
(15) What is Break-even point ?
AA-foredg foreg T 22

Il. Long Answer Type Questions

(ST goe)

Question 16 to 18 are Long Answer type questions and each question carries 5

marks.

US THAT 16 A 18 dd SEUIANT U & USSP UL Uid 3ib BI & | 3x5 =15

(16) What do you mean by market assessment ? What are the factors affecting market assessment ?
ISR FEIhel A 3T T AFSA & ? TSR FeAIhel U2 YT SIeTAdTet Ted Dlel-Diel A & ?
Or (&)



What factors should an entrepreneur consider while selecting a product ?

ferelt aeg & FraT 1 goa Fed AeAd AEH B fober Aral BI AT T AT ?

(17) What is meant by advertising ? What are its objectives ? Explain.
farsiaer A =1 3MeRT 2 ? 9B 32T TS ? IdTST |
Or (&)
Define management. Describe its assential characteristics.
yaier 3t RS AT | 3HS yIH [evad Jegse |
(18) Define planning what are its features ?
fernora @t uRanwn € v swe! Ridwad gars |
Or ()
Why the formulation of project report essential for an entrepreneur ?
v AEAH B fore uRaieren ufates wemen =i smaas 2 ?
Answer of Objective Type Questions
qegferee yest & IR
(1) d 20 c (3 c (4) d (5) a (6) d (7) a
8) a 9 b (20) d (11) b (12) b (13) a (14) b
(15) a (16) a and (18) b (19) c (20) a (21) c
22)d (23)d (24) a (25) c (26) d (27) a (28) d
(29) b (30) c (31)b (32) c (33) c (34) a (35) d
CHAPTERWISE DISTRIBUTION OF MARKS
Topics Total alloted marks Long Type Short Type Objective
Unit | : Enterpreneurial Opportunities and Enterprise Creation 20 1(5) 3(6) 9(9)
Unit Il : Enterprise Planning and Resourcing. 20 1(5) 3(6) 9(9)
Unit Ill : Enterprise Management 30 1(5) 4 (8) 17 (17)

70 3 (15) 10 (20) 35 (35)



